
Solving the quadratic equation: x 2 + 3x + 3 = 0:

Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2

= −3±
√

3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2

= −3±
√

3 · i
2

Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:
−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2

Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:
−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i

Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates

This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i

Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf


Solving the quadratic equation: x 2 + 3x + 3 = 0:
Using the Quadratic Formula we get:

r1,2 =
−(3)±

√
(3)2 − 4 · 1 · 3
2 · 1

= −3±
√

9− 12
2

= −3±
√
−3

2
= −3±

√
3 ·
√
−1

2
= −3±

√
3 · i

2
Conclusion: The solutions to x2 + 3x + 3 = 0 are the complex:

−3
2 +

√
3

2 · i and −3
2 −

√
3

2 · i
Note: The two solutions are complex conjugates
This is not a coincidence. The difference between the two solutions is
the ± before the imaginary part with i
Conclusion: In general, if a + bi is a solution to a quadratic equation,
then its complex conjugate a − bi is a solution, also.

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf

